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PART-C
PHYSICS
(Marks : 50)

51. The vectors A and B aresuchthat|A + B|=|A — B| then the angle between A and B is
A+ B|=|A - B|eows A, B 50% 30 S'ealin
) 0° \/(25 90° @3) 45° 4) 180°

52. A lift of mass 1000 kg. is moving with an acceleration of 1 m/s® in upward direction. The tension
developed in the string which is connected to the lift is

1000 kg. (&5550°8 o 8, 1 m/s? Broeasons’ Do D8 D0YBIB. BF0 Jeres SRS SiS° A B3
(1) 9800 N v({} 10,800 N (3) 10,000 N (4) 11,000N

53. Inarigid body, the distance between any two constituent particles
2.5 iy S5R0S° D Dot Seatiane Sogsy Srei®

(1) remains constant only when the body moves linearly
e 5203 SDAD BN’ e SFEN0 HBST Hotodo
\/{'f} remains constant always
Doyt REBIT Btk
(3) remains constant only when the body is in rest position
& S o HBE” &N BIED0 PIIT ok
(4) remains constant only when the body is in rotatory motion
& S0 05 Bossnd’ et STER POSMT Do
54. Total linear momentum of a system of particles remains always constant if
2.5 Sen 5553 o), Dooeiioo B (G55 Do g pes Pawar &0l
(1) A conservative force is acting on a system
& BEPR Mgy BOBO HID Do
(2) A non-conservative force is acting on a system
& SR oDty LS STDaks ookl
/} No resultant force is acting on the system
& BeSigR $OB Do ErRFn
(4) Variable force is acting on the system

& S50 56 DB SIDoL Bookods
3 [ET..
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56.

57.

58.

59,
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According to Kepler’s third law, the time period (T) of revolution of 2 planet and the semi-major axis
(R) of its orbit are related by

256 50755 DA (5570, 2.5 PE5TH0 557 5565 Srowus (T) 50000 e0g/Hed egin (R) © 53 Soeotsin
(1) TaR? (2) TaR? AB) TaR?”? (4) TaR®”

Kinetic energy of a particle executing Simple Harmonic Motion at its mean position is
DY TOES BoBEod’ P 2.8 ¥eaio Do FBB00 5¢5 IR oD K8

AD Maximum  (2) Minimum @) Zero (4) Infinite

lylsnts SHPens 208y SRoBRD
A particle executes a simple harmonic motion with time period (T). The time taken by the particle to
go directly from its mean position to half the amplitude is
RO TTEE SR8 i) Lo D), Eomrists svown (T). & Sewin Domaiso ool S5 562086°

£ T 31 F ¥

M 3 @ 3 - O 5

In the case of damped motion, the forces acting upon the particle are

e Bod” iy Season Aot SIDD wereo

(1) Restoring force (2) Frictional force
DSBS wosn oger Do

(3) Extemnal periodic force (@) Both restoring and frictional forces
Ry SRS 2S00 DHRPOE 50000 Polfer wered

The velocity of a transverse wave in a stretched string with tension T, having length L and mass (m) is
given by
L 29, m (3508 Ko 2.8 SKE’ 858 T 9% oS S5 $tioiison dloos), s

TL T 1
W Tm O \E ® = @ T

A transverse wave is propagated in a string stretched along x-axis. The equation of the wave is given
by y = 0.006 cos [x (46r — 12x)]. The frequency of the wave in SI units is equal to
FRENS SN o8 SO BC0NS0 -0F5D Jowd PHATAWOD. & BSoNHD B, VAWSTLDW

y=0.006 cos [ (46t — 12x)]. SI (B5Trerod’ e BE0NS0 oY), Fdgos
(1) 46 ) 14 (3) 23 (4) 100
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62.

63.

64.

PS
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The transportation of mass from the region of higher density to the region of lower density in 2 gas
gives rise to
2.8 OIS’ GBE Fros Ko Frobin Suod, ve) FoH Ho FroBHNsn N8 209 Jod =8A
B
(1) Viscosity A Diffusion
2 b4+ TeTor]
(3) Thermal conductivity (4) All the above.
e PSS
In a T-S (temperature-entropy) diagram, the isothermal curves are
T-S (&afuRs-DoesD) D $e5006" D0 &S S
(1) Straight line parallel to T-axis
T-e5°08 DITCBSBIT dok SO¢ 0
\/({] Straight line parallel to S-axis
S-e2 SEoBERT &0t HOF 0P
(3) Straight line inclined at an angle
ot St Toom Hot 96709
(4) Rectangular parabola
BY BB SoBoKN0
In a cyclic reversible process, the entropy of the system
S8 &g oedons EEanS’) S5 ooy, Joes’s
(1) Increases (2) Zero
2000 a0h)
(3) Decreases \41} Remains unchanged
BIH ST
Wien’s Displacement Law states that
DS T (@o¥ b0 BTN
1 1
\/({}?Lmu$ (2) AmaT G) Ama 7 #) AnaT

[PTO.
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65. For a perfectly black body, the absorptivity is

&5 5050 HR DY) Ao, §5e8
S @) 05 (3) Zero (50%) (4) Infinity (escs50)

66. The particles obeying Maxwell-Boltzmann statistics are called
SrERS-Hiegiad Jrogrin B+ §ob Smtueh 58%0d

(1) Electrons (2) Identical and indistinguishable
dogroes 5055 SoBaly DEHICHEY Feadoons
‘/é) Identical and distinguishable (4) Photons

R0 S0B0k HBGH Eeasootd TP

67. Fermions have spin value

PO 298
1
(1) 0 VO 5 ® 1 @) Oor
68. Colours of thin films result from

B0l oo Sorbos B $o8 JGDE
(1) Dispersion of light \/6)' Interference of light

o8 JFHeasoo S0 0 $B50eE S0
(3) Absorption of light (4) Scattering of light

oS §5easoo S0P 508 SEESER0 Jod

69. In Fresnel’s biprism, coherent sources are obtained from an incoherent source using
@S Bgpesind’, B2 5G8S° vong SPod et Huod Hoag STod elses i IR

1) Division of wavefront (2) Division of amplitude
SComyY i 0555 D80G i
(3) Division of wavelength (4) Division of phase

6o By DeessS &5 Dagsd
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70. Resolving power of a diffraction grating increases with
D3G5 fieoR Dok, SyEstier ogser HIBED IO
‘/(1] Increase of total number of lines on the grating
Bedoh Boc &) Do Spe Sopgio Doty Hew
(2) Decrease of total number of lines on the grating
fie3oh Beop &%) Doodnw Ope Sopgds Blote Jo

(3) Increase of grating element
fiedoh Sarrelo DD So

(4) Decrease of grating element
fle3oh Sarro¥o Biowoes SO

71. In Fraunhoffer diffraction
SrS5PS0 DS55SE
(1) Source and screen will be at finite distance
oo 255 SoB0Ks BE $0058 rtod’ Hodkor
(2) Spherical wavefront is used
Rl Borrttoee SSArRTD
(3) Cylindrical wavefront is used
SrPs0 Boomines EXArAT
\/(4,} Plane wavefront is used
SRoBe SEOTER00S ESAFATI

72. When unpolarised light is incident on a glass slab at an angle of polarisation (6;), then the angle
between the reflected ray and the refracted ray is
@08 o8 e Boop ((oSesmo (9,) DI SBIBOFHE, SorBES SCeSn Hoboks Sidenss
$es00 B¢ S0 ' :
(1) 45° 2) 30° (3) 60° \/(4} 90°

[P.T.O.
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73. Abeam of circularly polarised light passes through a quarterwave plate, then the emergent light is
S)BOD (GDS 08 Hoardy, BB B! JOLL0 MO SoDSHE Dot S"od

V/( 1) Plane polarised (2) Circularly polarised
JE Bo 1GoDE 50S ;.‘géaiv (GoDE sod
(3) Elliptically polarised (4) Partially polarised
& 8ad o8 s 88 DB 08
74. The wavelength of the He-Ne laser is
He-Ne 825 gy, $tonpgsion
(1) 441.6 nm (2) 555.5om \/6 632.8 nm (4) 694.3 nm

75. Ifvis the frequency of excitation, then the ratio of probabilities of spontaneous emission to stimulated
emission is proportional to
&BED 708 FREPIFI0 v S0, JeHos &omENes S0k B2 amores Sogrde g 68
0850 TESE” Hotnod

1
(M) v @ = (3) v Sy v

76. The magnitude of the electric field on the surface of a sphere of radius ‘r ' having a uniform surface
charge density ‘c”’ is (€ is permittivity of free space)
raErgo, ‘6t DE0S &50H0 eA¥E oSS Mo ReS Y Sk Glot), &0BeB0 SogS T S5 ook,

SOSER0 (& WHHEITSEo 20,30e3)

Sy = & cdn g
(1) p @ 2¢gp €Y €7 (4) 2¢pr

77. The negative potential gradient is
DeSogS FEJ0S 2w0eaESSests B3 HISBD

(1) Electric field gradient (2) Potential energy
S §H S0 28 ¥
\/6 Intensity of electric field (4) Electric current

65§48 HSS DS FIro
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78. The electric field at 2 distance of 30 cm. from a point charge 8 x 10° C s
8 x 107° C Dotk efddo $v0d 30 cm. G608’ Ko Dok 5, oS T S8

A\ v \' v
et 5. - s - ol
(1) 80 — \/é §x10° — (3) 24 1|:s'*"m (4) 24x 10 —

79. The relation between electric displacement (D), electric field (E) and polarisation (P )is
DesosS BSHT00eT (D), oS o (E ) 30003 Deiog (¢hoeasion (P ) & Sotsy Sowotin

ﬁ) D=gyE+P (2) E=¢yD+P (3) P=gqE+D (4 ¢E=D+P

80. The dieleciric constant of amedium is 2. Then the permittivity of the medium is

€p=8.8x 10'”3}
m

| SR
2.5 QrS¥o GIo8, BEE RTOL 2. & G0 1OEINS (enz 8.8 x 1(}12_]

m
F F
() 88%107* o Q) 22103y
£ F
\/(3/} 176510712 & 4) 44x1002

81. Ifthe intensity of electric field is E and the electric polarisation is P then

tri| roi

= 2 P
D55 §& SEB E So80o oS (goseo P mg=

(1) Dielectric constant ‘/6] Electric susceptibility
Syt 20080 35.755 J0nDOS

(3) Permittivity (4) Electric displacement
20,£30e3 D5 EFTDooes

82. If a hollow spherical conductor is filled with a liguid, its capacitance changes from 4 pF to 12 pF.
Then the dielectric constant of liquid is

2.8 Foorr 9% Awrs s Tl 5508 DodIHED T EoB 4 uF 5006 12 pF H IS8, eand &
(55800 G0k, E'65E Horosos

(1) 2 2 4 () 8 \A 3

[PT.O.
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83. The force of attraction between the plates of a parallel plate capacitor having charge ‘Q’ and area of
each plate *A’ is ;
‘Q’ 5o, ‘Al Sol PTesIT Mo SETOBE Soto £3589 Mo, Jos Sogk esPE weie

2 2 2
Q
(1) Zero (3%) @ E? = ®) eh Ao 220 3

84. The magnitude of electric field E between the two co-axial cylinders of a charged cylindrical capacitor
2.5 6585 S Ieeiy 306 sy, Dot SEa oo Brdre Mot SroBod” WS §E SB S0Ern0
(1) Is the same throughout
oy Dotsnpe 3¢ 28 ook Hodkse
(2) Is higher near the outer cylinder than near the inner cylinder
S Nyrido SIS STy Deodd BTto SIS 25
/@] Inversely proportional to the distance of the point from the axis
e5o Jood Doty GRS DENTHRV oS Hotoss
(4) Inversely proportional to the square of the distance from the axis
850 Sood Dot Ervo Gy, 5ordd STTHT oS’ ok,

85. If the distance between the plates of a capacitor is increased by 2 times and the area of each plate is
decreased by 4 times, then the capacity
2.5 BETOBY Doso $0BOS Sose Mo S0 2 Bew Lod), Soo FTop 4 By BRoIB D F8

(1) Increases by 8 times (2) Increases by 4 times
§ B O 4365 2000580
/) Decreases by 8 times (4) Decreases by 4 times
8 By BI 47383 S0

86. The relation between magnetising force (H), magnetic moment per unit volume (M) and magnetic
flux density (B) is
soh,08 §B 858 (H), 8Sre BNBOSTEI0” WOKAM,08 ErSso (M), Sod,of efS Fo

(B) o 35085 502080

H
(1) H=yo (B+M) @) B=2-

SO B @M () M=ty (H+B)
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The relative permeability (i) of a2 medium is 0.075. Its magnetic susceptibility is
28 OIS0 %y, g Sud 08 (1) = 0.075. T w08 Shpddel

(1) 0.925 A -0.925 (3) 1.075 (4) —1.075
Hysterisis is exhibited by
0PN EEGeHN
(1) Paramagnetic materials A; Ferromagnetic materials
FO" OHIY0H STTed & eotidn,on Sooe
(3) Diamagnetic materials (4) All the above materials

According to Biot-Savart’s law, the magnetic field (8B) due to a small current carrying element at a
point which is at a distance ' from the element is

DTS- ALBBD B0, &8 IS TS eoyoisen Se, eenoEs M0od 7 SrSSs’ o
Do) 3¢ D eatd,ed (20 (8B)

]

1 : 2
(1) 8B o /6) aﬁm:r—2 (3) 8B r (4) 8B <
Hall coefficient (Ry) is given by
TS 0e50 (Ry)
1) R == 2) Ry= = 3) Ry= 4) Rg=—
(1) Ry=—~ ) Rg==— (3) Ry=ne (4) Ry=

In which case, the magnetic field is uniform?
D SocEns” echiy,o8 $EHn XD Hoco?

(1) Outside a long solenoid (2) At the axis of a circular coil
DS PBTons wobe TS Hirfisoly w5 Aot
) Inside a long solenoid (4) Near a long straight wire
e FDronk 8%e DS G S S

[PT.O.
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92. ‘When the number of turns of a coil is doubled without any change in the length of the coil, its self

inductance becomes
2.8 SIY 5083 SEHRD STE00L, BotHE Boky Sopsds BedoH B, T Sxoho (oSE
(1) Doubled v{{) Four times
Bedosi Tl DL e
(3) Half (4) Three times
B[RS eifss Soresd Béx &M

03. Oscillations of the coil of Ballistic Galvanometer are affected due to
52 rodirso 69 &I o8 ), Somreis EErdBn VoSt

(1) Mutual induction (2) Eddy currents
oS (P00 a5 e

(3) Hysteresis v(d{ Self induction
TRORS eb et Fetelar]

94. Magnetic field inside an infinitely long solenoid carrying current (I) is (where n = number of turns per
unit length)

122558 S0 Mo edoBitons S ife FdTant 9o 0,08 §B0 Deod (n = E5re FEHED

ot Sogg)
A ot @) ““T”I
(3) Zero (i) (4) Infinity (eS055m)

95. The differential form of Faraday’s law of electromagnetic induction 1s
FHE DS T8 (256 AOWI0o s, ¢SS o

. _3B - -BE
A xE==2 @ VxB=—
(3) VxB=pe @) VxH=1+2

ot
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96. A series LCR circuit with the quality factor *Q’ is impressed with an a.c. em.f V. At resonance, the
voltage across C is
‘Q’ Ihesereso o &8 @3 LCR 30008 V Sepo I57088 DEosmos 2erd) eiosgomrd. ekome peé°
33006 Jos S8
Vv
() V (2) Zero (3) QV (4) Q
97. The bandwidth of a LCR series resonant circuit is
LCR @63 &0Xomrds Secho clos), He3s ey
L R . R L
W) G = G = @O =
98. LCR parallel resonant circuit is a
LCR 385088 edoard Seclo e
\/({) Rejector circuit (2) Acceptor circuit
BEIY,Y Secko S8 Soco
(3) Rectifier circuit (4) Regulator circuit
25Q57,0 Secko Joo@s Seabo
99. Which of the following is not Maxwell’s equation?
Eod 738" Sr§Rd Sostesw 582?
=0 = 5 oB n./ ST
(1) Vv-D=p (2) vVv-B=0 (3) ‘T"XE+—'— 0 @4 VxH=
100. For a plane electromagnetic wave propagating in a homogeneous isotropic dielectric medium, E and

H fields differ at phase by
2.8 Serdan, B5008Y 8'GY arEos® Bk HELIROI,08 BooKo ERooRNHE® E mba H
S G¥o 5655 O

(1) 90° (2) 180° ‘6&“ (4) 270°

[PT.O.
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CHEMISTRY
(Marks : 50)
101. The outermost electronic configration of Mn®" ion is
Mn?" oaS erig oS Dgiitn ————— 1 GO,
\,(f)/ 3d° 4s° ) 3d* 45!
@) 3 42 @) 3 4s? 4p°

102. The EAN of Ni in [Ni(CN)4J* is
[Ni(CN)4J%~ ot Ni oot EAN .

) 34 @ 32
(3) 36 (4) 54

103. The nature of the complex [Co(NH3)3Cl3] is

[Co(NH3)3Cl3] 8osaes coot), Hperasioo
(1) Positive charge (2) Negative charge
Fa TR PDET IR
\/(ﬁ Neutral ' (4) Amphoteric
B350 Bgrieraaod
104. The Densest element is
SEHE ToEBo RS Jorreso
‘_/{(} Osmium (2) Francium
esho0 oo
(3) Cestum (4) Sodium

evere) Fdovo
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105. According to Heisenberg's rule
PRSP VoD SSEN
(1) No two electrons of the same energy enter into same orbit
S:50%8 295 O Dotk JoFRy &3 S 5305
v({) The position and momentum of an electron cannot be found accurately at a time.
doFTS Iy, o BobaKo (555 IS0 15D o $5085H,8500.

(3) The position and momentum of an electron can be found accurately at a time.
DOF Fo0 B0 (55 D 23 0 o HEYHE).

(4) For every proton there is an antiproton
B FReriod af G (@Perdo dotio.

106. The value of Plank’s constant is Erg. Sec !,
ok oo Deos ————— 26, Wl

\/6 6.625 x 10727 (2) 6.625 x 10°%  (3) 6.02x 107  (4) 3.01 x 10727

107. Shape of XeFs molecule is
XeFg wed) alwos), efd
A1) Square planar (2) Linear (3) Pyramidal (4) Octahedral
3806 Sdodosn  BHavso RIS eiPosin

108. The metallic character of group 14 elements
14 3 ) Sroste SGcsn

(1) Has no significance (2) Does not change
TS B> 5078y B :

(3) Decreases from top to bottom _\/(ﬁ-] Increases from top to bottom
20l (o8t BIHR D00 (o6 BHIG

109. Which of the following is moderator?

Eobmre3s” DB ousre?

(1) Gold (2) Boron (3) Cadmium (4) Graphite
DTSR ST G000 rpes

[P.T.O.
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110. The most soluble salt in water is
538" eSS S5Hih oSesn

/(1) BesO (2) MgSO04 (3) CaSO, (4) SrSO4
111. Orthoboric acid is
es575°05 esiigisoo
(1) Dibasic acid  (2) Tetrabasic acid  (3) Tribasic acid ./é}/ Monobasic acid
B8 e SerBnE esigio SEE efpsn 2rTHENE esiodn

112. Which of the following can be used to remove nitrogen from air?
05D $Bedd Sofotd $obmels” BN &BAATAYLL?

(1) CaCl» (2) Phosphorous (3) Magnesium (4) BaSOy4
CaClp TR ofiymeso BaSOy
113. Tyndal effect can be observed in
2306 (TSt —— SOt HGOTIEY.
(1) Solution (2) Solvent (3) Precipitate \/é; Colloidal solution
(g0~ o orsed S50 SPoseE R

114. The number of 'd" electrons remained in FeZ ion is
2+ L
Fe” satriod’ M & ‘4’ Jogs Sog
1) 3 @) 4 3) 5 Sy 6

115. EDTA is used for the estimation of ions.
eolrge wolvr Satowts EDTA O s&ed.

(1) Na* and K* (2) CN and Br  (3) Cu®’ and Ag” ‘p{cﬁ and Mg®*
Nt %o8ato KT ON a0 B Cu?t soBaww Ag”  Ca? 8o Mg?
116. Which of the following has the largest ionic radius?
2o Te35" BUE wBY Yol RGN &otRo?

\/1) Tit" @) ¢t (3) MnZ* (4) Fe**
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117. Methanol and Ethanol are miscible in water due to

(1) Covalent character \/6,‘; Hydrogen bonding
350D Keerisiioo WERS oo
(3) Oxygen bonding (4) Hydrophobic nature
eadyeed 20¢5H0 205 F08S
118. Asthma patients use the following mixture for artificial respiration.
e E70e0 G THoH T s
(1) O + Ne (2) O, + He (3) 05 + Kr (4) O3 + Xe
119. Which of the following compounds does not exhibit geometrical isomerism?
SobmredS” D0 §B TR BERoNE?
(1) 2-pentene (2) Fumaric acid
2%0el DpireE e
(3) 1-Chloro-1-propene \/{4) 1-Pentene
1561535 1-20835

AdA
How many structural isomers are possible for a compound with the molecular formula CsH;;C1?

CsH}1Cl se e SDAS 2.8 SRo@sBnnstd I oy IEEses Fesiiomon?
(1) 2 (2) 3 (3) 5 4 7

121. Which of the following stereoisomers have neither superimposable nor mirror images?
Eod BB JyETed” GBS S EShonsnes 59 LT Hesn 50 SO &olsH?

(1) Enantiomers (2) Homomers
\/6 Diastereomers (4) Mesocompounds
GO HBATB DoRFsRogTen

[P.T..
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Which of the following compounds does not possess sp> hybridized carbon?
208 Shogies® DB sp? SosBEmS Dol S SR &ott?
(1) Butadiene  (2) Propanamide  (3) Benzyl Cyanide éhcemniu-ile:

BPRPCETS FegaRIas BoBS PN eSO
The addition of HBr to propene gives
555 HBr o SOLSped 19508
(1) 1, 2 — dibromopropane (2) 1-Bromopropane
1, 2-BE T 1-SarEras
(3) 1, 3 - dibromopropane \4} 2-Bromopropane
1, 3-B@ar@fas 2- S Fas

Which of the following is very less reactive in a nucleophilic substitution reaction?
B0 Te38° DB $rIarHes BESse 365 68 B Sorglos BN &ot?

(1) Ethyl chloride vﬁ] Vinyl chloride
S Sow 36 Socs

(3) Isopropyl chloride (4) Allyl chioride
3RS So 6 06

The IUPAC name for (CH3);CHCH,CH7CH,Cl is
(CH3)2CHCHCHCHCl 6303, TUPAC =raoaias

(1) 2-Methyl-5-Chloropentane AB) 1-Chloro-4-Methylpentane
2-2086-5-55 203 1-56°-4-28 50083

(3) 1-Chloropentane (4) 1-Chloro-4-methylbutane
1-§°670083S 1-56°-4-28 FargedS

Which of the following does not exhibit keto-enol tautomerism?

o8 738" 96 &5 Bard ereSRoaS BE0EN?

(1) Propanaldehyde (2) Acetone
i S5’
(3) Acetophenone \A} Benzophenone

eeSHTS DoEHTS
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127. In Corey House reaction Vinyl chloride and Et;Culi form

§TR Btiidoco JPS §10¢h Mdad EtyCuli ——————— & Ahsisono.
(1) n-pentane (2) 1-pentene
n-»o8S 1-20635
/{3) 1-Butene (4) n-Butane
1“333’555 n-eﬂ'sejS

128. Which of the following is non benzenoid aromatic compound?
Botmreds” DB TSBodarond JEETeS FRoEissen?

(1) Cyclopentadiene (2) Cyclopentadienyl cation

PEDoLPEALTS S poereordd sredoirS
\/{3} Cyclopentadienyl anion (4) Cyclopentadienyl radical
S oertiaT RS alPSaES S oerorpd Tasd
129. Benzoic acid can be obtained in reaction.

Bof'ons esono BOFO0N TS

(1) Benzaldehyde + per acetic acid (2) Benzyl aleohol + KMnOy solution
Toerdered + D0 ehedf o oD eso)Sfed + KMnOyg @rsessoo

(3) Methyl Benzoate + NaOH next dil HCI \/({) All the above
2P BoE'ieS + NaOH 8050 Swo HCl - pdsdowo

130. In toluene the methyl group is orientation group
erBSHoth DS SHTFTHD ———— BTN Mo SEaTIRER.
(1) meta (2) ortho
2oer Loy
(3) Para /(%) Ortho and para
>o &g So8ato Jo°

[P.T.O.
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131. Bromination of Phenol is done with reaction.
55 YO SRS @s‘m BOSSEY).
(1) Phenol + Brp / FeBr3 (2) Phenol + Bromine water
%o + Bry / FeBr3 Soed + (HR0S oo
(3) Phenol + HBr (4) Phenol + NaOBr
S%reo + HBr Sares + NaOBr
132. Which of the following compounds does not participate in Cannezarro reaction?
$ob Shoped’ D8 TUTEBEE TG
(1) CgHsCHO  (2) HCHO \/,) CeHsCH,CHO  (4) CCl3CHO
133. Aldehydes and ketones can be distinguished by test.
eDirc Sobax SR ———— 905 Ty KQoBSEY,
(1) Molish test (2) Mulliken Barker test
SO8, 905 500888 erth,b 36%
/() Tollen's reagent (4) 2, 4 — DNP test
50, SERW 2, 4 — DNP 564

134. Which of the fﬂllcwmg is weak acid?
Eod T3 DB welrd estBn?

{I}O @) O | ) U
N N
!

H
135. The hydrolysis of sucrose is called
2% a0 JBIES0N ————— woerth.
(1) Saponification (2) Esterification (3) Hydration (4) Inversion of cane sugar
2SS JROTERS e @sses0 55,6 DE'Sgo
136. Peptide bond in proteins is identified by test.
S8 Wt w0l 10RO ———— 58% .

Q1) Biuret test  (2) Ninhydrine test  (3) Schinoda test  (4) Borsches test
20%00eT 3555 ASGS 0% o 568 £, 50
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137. The Boyle's law is an applicable process at constant

2ros0S DAGIEEND RO ———— B¢ &8 eSgda HED.
(1) Pressure (2) Volume v@ Temperature (4) All of them
D550 PORBEBIENI0 &S LI

138. A real gas shows an ideal gas behaviour at
————— 56 2.5 Jeroiod) o8 Sty E5E5S B85,
(1) Low temperature and Low pressure
B S $oB0 B HessEn
(2) Low temperature and High pressure
B TS 500> IS HESED
(3) High temperature and High pressure
ES SRS 0B DS DEIBN
ﬁ] High temperature and low pressure
D5 ST BB BN eSS0

139. The Joule Thomson expansion of an ideal gas is
2.8 €3St TON0R) oY), TS TIERS TS W

(1) An isothermal process (2) An isobaric process

2.8 FAFSE Bdan 2.8 BBoneES HiEad
ﬁ) An isoenthalpic process (4) None
2% 350 JomdE e 28 =
140. Heat capacity of an ideal gas depends on

2.8 6 TOHOD) B, &5 FEFFEN ———— P STCED.

(1) Pressure (2) Volume ‘6 Temperature (4) Mass
Sess8 FoTB DOIIES0 AP 55578

141. Gibb’s free energy is defined as
Aej R 80 ——— m DGDonnng).
JOG=H-TS (@ G=H+TS (3 G=E+TS (4 G=E-TS

[PT.O.
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143.

One Joule is equal to ergs.
2.8 TS ——— Do BEFEHw.
(1) 10° @) 10° ./(3) 10 () 108

In the electro osmosis

D58 FTDHIGE0E"

(1) Particles move but liquid rests
Eeren Soond SR (S50 JoSET GOt

\/é Liquid moves but particles rest

144,

550 $essy 0 Fered DosSr &ohdd
(3) Only particles move
Eeren S Stoecso

(4) None of the above
Dok s

If 480 ml of 1.5 M solution and 520 ml of 1.2 M solution is mixed, then molarity of the final
solution is

480 20.0. 1.5 M posesos 55000 520 28. of 1.2 M (e SDOSHKD & Eraesn ool
Jois?

(1) 1.20 M ) 1.50 M (3) 240 M 4 134 M
145. The relative lowering of vapour pressure is equal to the mole fraction of solute. This statement
is
i ESE o8, FhE Mhnstesn of @D G DD SErEEN. S 806
BP DB,
(1) Vant Hoff Law (2) Ostwalds Dilution Law
oS T DobHesw sy DD oS
_A® Roult's Law (4) None

Trogy Nobiiowos DK S°EH.
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146. Which of the following is an emulsifier?

SolTedS’ D8 30907
(1) Water (2) NaCl (3) oil ~/(4/} Soap
RED NaCl BoSw e

147, A catalyst increases the rate of reaction because it
2.8 &EHUES0 HoY DA0R0 DO Jothed ed

(1) Increases the activation energy 2) Decreases the energy barrier of a reaction
SorBos 75D Dodotkod 300008, esTEEd ¥80 SARgel

(3) Decreases the collision diameter (4) Increases the temperature coefficient
adirs E‘S”KJ;S:)&‘D aliblela) é%f@fﬁ foeainndin oiidlood

148. For one mole of gas the total kinetic energy is equal to
25 Ard T o), odRn B # ———— H IS,
\A 2 RT 2) RT 3 ET 4) =
M 3 @ 3) 3 @ =7

149. Methyl orange indicator gives pink colour in the solution of
Ereasns” RS e DS & Goid 0.

(1) NayCO; (2) NaCl v{/si HCI (4) KOH
150. A buffer solution helps in controlling
2.¥ 258 ety ——— B0 dooiForosd® BFaXnte.
/(1) pH of 2 medium (2) Alkalinity of a solution
QRS Clos), pH R0 G, Fro8s0
(3) Acidity of a solution (4) None of these






